Name

Time

8 5 5 6 5 1
+5 +4 +9 +4 +8 +5
2 6 6 5. 2 6
+6 | +5 +7 +6 +5 +0
B . £ 5 3 7 5
+7 +6 +5 +5 +5 +2
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' Name Time ‘Power Up e

) D Ada:
7 7 7 9 8 8 8
+4 +3 +7 +8 +1 +6 +0 +2
7 2 8 2 7 8 | 7 8
+5 +7 +1 + 8 +9 +5 + 8 + 8
7 6 3 7 8 8 5 4
+ 6 +8 +7 4 2 + 3 + 7 +7 4+ 8

Problem Solving | ' - il f |
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Power Up °

Name Time
) A A

7 7 7 9 8 8 8
+ 4 +3 +7 +8 + 1 +6 +0 +2
7 2 2 7 8 7 8
+5 +7 + 1 +8 +9 +5 +8 +8
7 6 3 7 8 8 5 4
+6 +8 +7 +2 +3 +7 +7 +8
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il
V.

Name Time
Add:
4 8 2 8 9 2 4 4 4
+4 | +6 + 3 +4 % F + 9 +5 + 7 + 6
6 8 5 3 2 7 7 3 9
+ 6 + 9 + 3 +4 +8 +8 | +7 + 6 + 3
5 6 > | 6 4 9 9 4 5
+6 + 9 + 2 +7 + 9 +5 + 9 +2 5
. B 5 3 6 7 3 7 2 8
+5 +8 +3 | +2 + 8 + 8 +5 +7 +8

© /N
-
= 7

\‘\lllll
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Name Time ~ Power Up
@ZETA  Subtract: (

5 8 10 5 9 10 7 8

—0 —2 -9 -y —2 ~-3 —2 — 7

6 7 8 10 10 4 4 9

~ B ~ G ~ 9 -9 — 8 - 1 oy — 7

11 9 6 5 4 3 11 6

— g = ] —2 — 4 -0 | .—3 —2 — 4

PN
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. Subtract: : o

e Time X Fowerup-

|
(0]
|
w
|
w N
| ‘
(6]
|
o
I
N
|
w
|
o

|

. pﬂ“ﬂem solving
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Power Up 6

Subtract:

8 6 12 6 11 9 12 10
— 4 — 4 —4 ~3 ~7 —5 —9 ~3
12 5 7 8 7 10 9 11
-8 —~3 -3 —5 o 4 _ 4 =3 _ 4
11 9 13 12 8 9 11 13
-8 —4 _ 4 ~3 — 38 ~6 ~3 —9

Problem Solving
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